Summer Packet: PCH

Topicl: Factoring. Factor each expression
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Topic 2: Complex Fractions. Simplify each complex fraction
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Interval Notation. Write each inequality in interval notation
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Domain. Write the domain of each function in interval notation
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Expand expression
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Evaluate each log expressio%
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23. Solve each log equation & o 1o = A Fx -9
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opic 6: Special right Triangle 24 o 2
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24, If the hypotenuse of a 45-45-90 triangle is 8 how long is each leg? ’7‘ [ aL
25, If the leg of a 45-45-90 triangle is 3\/_ how long is the}’ypotenuse
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26. If the shorter leg of a 30-60-90 triangle is 5\/— 3 how long is the longgr leg? The
hypotenuse? 53 s :3 ( l3)
27. If the hypotenuse of a 30-60-90 triangle is 12 how long are the other sides?
28. If the longer leg of a 30-60-904riangle is 15 how long are the other sides?
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